
Two black parts are opposite , → Exclude A and B

Focus on the grey part and find the positionsoftwoblacd
Option C : Grey does n ' t change , parts .

A Blacks change → Exclude C
.

Option D : Rotate 1unit anticlockwise

Option E : Rotate 2 units anticlockwise

Exclude D
.

←继B : E : []"
-
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E is correct
,
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9 子 9

9 + 8 + 4 = 21 下 + 2 = 9 9 + 9 + 9 = 2F
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1 子 Order :

了 9 D→ B → E → A → C
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3 + 1 = 4 g + 子 + 2 = 18 、 、 … √
上
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on thoadjacutfares caant sum pto F .
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O + 2-2 + 5 = 5 ①+ 5 - 2 + 2= 5 2+5 - 2 + 0 = 5 \⑥ o0 、
5 + r = F 6 + 1 = F 4 + 3 =F 2 + 5 = F

5+ 0 - 2+ 2 = 5 5 + 2 - 0 + 2 = 9 B
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Two sides of the rope must be overlapped
with each other

.
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3 ? , 3 + 4 + 5 + 15 = 2F

作 ÷ 3 = 9

9 - 3 = 6
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① □ and L ;

一 λ x
same → Exclude A andcide

→ only 2
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② 6 and 0 : same

side → Exclude B
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sides → CheckE
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6 × 2 + 1 = 1 万 6 + 9 = 15
6 × 3 = 18 型

6 + 5 = 11 6 × 2 + 4 = 16



210÷ ( 6 + 1 ) × 2 = 210 ÷ 7 × 2 = 30 × 2 = 60 g
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3 × 4 = 12

12 ÷ 6 = 2
1 2 5

998~ Every number

Total : 18

Each piece : 18 ÷ 2 = 9,
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10 appears twice
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√ So the numbers

2 2 9 in the fourth
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The square should be at least 6 × 6
.

THe fourth piece : 6 × 6 - 4 x 2 - 5 x 2 - 6× 1 = 36 - 8 - 10 - 6 = 12

Exclude A , 13 , and G
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T 1 > T2 > T3

T42 T5
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2 × T 3 = T5

m+ p + b = 4
m

D
可

The sum of towo shaded P
numbers is 29 and the 1

b
different is 13 ,

8
( 3 ㉚

First number : 29 -131 ) ÷ 2 = 8
apples
) Try : 4 = 1 + 1 + 2

22 mangoes
,

1 pears .

( m = Px 2
)

3 bananas
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弓 9
1 1 至可

W : 60÷ 6 = l 0 cm
L ∵ 弓 5 5 10

L : 60 - 10 x 2 = 40 Cm
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